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Instructions for the candidates :

1. Candidate must enter his / her
Question Booklet Serial No.
(10. Digits) in the OMR Answer

Sheet.

2. Candidates are required to give their
answers in their own words as far
as practicable.

3. Figures in the right hand margin
"indicate full marks.

4. 15 minutes of extra time have been
allotled for the candidates to read
the questions carefully.

5. This question booklet is divided into
two sections — Section-A and

Section-8.
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in Section-A, there are 100} objechive
tupe: (e shUNS ( euch ogrrang
1 mark) out o which any
50 quest: % arr to be answered
First 50 answers unll be evaluated
by the compniler in euse more thar
50 guestions arc answered Darken
the circle wrth blue / black ball
pen anumnst e eorrect uptiut on
OMR Answer Sheet providesd tu you
Do not use whitener / ligquid /
blade / nail cte. on OMR-sheet,
otherwise the result will be
fnvalid.

In Section-B, there are 30 short
answer type guestions (cach
currying 2 marksj, vut of which, any
15 questions are to be answered.
Apart from this, there are 8 long
answer type questions [ench
carriing § marks), aut of wheh any
4 questions are to be answered

Use of any clectronic appliunces is
strctly prolubited.
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Question Nos. 1 to 100 have four options
’

- . . out of which only one is correct. Answer any
S0 questions. You have 1o mark your select

ed option on the OMR-Sheet. 50x1 =750
2 '
1\ costloxl
- 14 52 e v llx|s1)
(A)  2cosx |
(B) 2sin" x

(D) tan™'2x

(A)  sin™'(ax® - 3y) B) sin~'(3x+4x°)

(C)  sin”™(3x - 4x3) D)  sin~}(3x3 - 4x)
2y 5 B ¢
© —% o -F
4, sin(sec™? x+cosec” ' x) =
A 2 @ o

© -1 ot




1 _,.L.-:-
7 (B)

5. ;3-
(A) -5- ©) Zn
n
Cl 3
4 )
6 IRV 3 7 gl @ . -
: Gl
(A) 23 -{:rﬁ'@aﬁé
(D)
c 1
- 1 3 is
The value of the determinant i g 16
® O .
s
(A) 23 (p) None of the
(C) 1
1 b+c :
7. | |1 g c+a EF[HFT%
1] ¢ a+b :
‘ b+c
(A) (l1+a+b+c) (B)/ (a+ }
c 1 o 0
' 1l a b+c|
The value of the determinant |1 b c+a| 1S
|1 ¢ a+b
(A} (l+a+b+c) (B) (a+b+c)
© 1 | D) ©
7 11 13
8. ORI |17 10 23| WMAAE
29 31 37
A - 36 |
. (B) 36

(C) 20 . D) T @ ﬁ% &
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The value of the determinant

Al -36
€1 20
9. uf ,1=[ {
(Al 3JA
(€l 24
It a=[_ }
|A) JA
[l 2A
[ # ]
10 HTER | h
g

—l]'ﬁi AV =

(C) Ui MR

a
M

g

Matrix

(A} skew symmetric matrix

(C}  unil

h g
b f|is
IJ

malrix

7 11 13
17 19 21
29 31 37

{8
(D)

{3

1D}

(B)
1]

(B8]

()

(8
(0]

11. 3 WA xdy + podx =0 & 6 &

36

nontie of Lhese

1A

G A T R

4A

nonc of these

70 A w12 5

symmeiric matrix

none of these

2
Y 2 2
) e S=k ® S-L =k
ICy  xy-k D 39 4 &HiE 3w
| 1217327 | I [{A)-9003-13 Page 5 of 32




12.

13.

Solution of the differentinl equation xdy + ydx =0 is

2 2 22 y2
(A) %—+-y§-=h (B) T-——E...-.k
(C) xy=Kk (D) none of these
-xd
st Tt YO Y Lo o gw @
y?
Yy | X 4
A ==k B ==k
A (B) )
(C) -§==k (D) ¥ q R T
Solution of the diflcrential equation ydx — xdy —2xdy =0 is
: : Yy
Y _ x _
Ay T=k B) ==k
Y
(C) ﬁ =k (D) none of these

d - 3
e GHEHTT d—i+Py=OWWﬁ’TT’WF

a0 S B elra
<) ejpux (D) e[Ody
Integrating factor of the differential equation %% +Py=0Q is
W elod B el

Pd)
I o) elo
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(A) 0 D) :
(C) -1 (D) }-
1S. Xy zl-
2o — =3 =F
& lzyx] B |yxz)
- - —> - -
(C) | x 2z y.] (D) Iz—; ot
d ., x3,
16. -d_l-(e ) =
x3
A) € B) 3x%e*
(C) /3-\?2612 (D) SIQEIS
d X =
17. Epe log3™*) =
(A) gl? | | (B} log3
(C)  xlog3 ' D 1

d 1 x| _
18. dx(sinx+e J._

(A) - 12 +e* (B) cosecx+e”
sin” x
X
(C) -cosecxcotx+ e* (D)  cosecx.cotx+e
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22.

Kx(ixj)-

A o . (B) T

(€) j; (D) P

[1op2dx =

(A} x+k B) log2+k

(C)  «xlog2 +k ujl x2 log2+k
s & ¥U H a1 & AHF Wit g &

Ay SeprE=o B Xedizo
€ =-2-Z-0 (D) T ¥ HE &

Standard cquation of the plane in intercépt form is

S B grpri=l
c - % -Z=0 (D) noncof these
g fag | fag (-3, 4, -5 )R T &

A) 6 ,' lB). 5V2

(€] 50 - (D) T A @R
The distance of the point ( ~3, -4, -5 ) from the origin is

(A} 6 | (ﬁ] 5V2

(C} S0 (D) nonc of these




23, (-4, -3, 7) A (-1, 1,-5)F Mgy
(A) 12 B 13
(€ 14 D) T A &
The distance between (-4, -3, 7 ) and ( -1,1,-5)is
(A) 12 B 13

(G 14 - (D)  nonc ol these

2. A p At e, @ p(4)er(£)-

(A) 0 (B) 1
c) -1 | (D) A9 @ FE T
A A
If A and B be two events then P(-E)H?(E)a
(A) 0 . ' | 1
(C) -1 o (D) none of these

25, E‘*x-(sinzx;=

(A)  cos2x @ : c__os,z_z_:g
(C) 2 sin2x (D} 2cos2x
26. a—i—-(tan}cch
' 2
(A) sec?hx | (B) ksec®x
sec? kx | . D) ksectkx

© =

[ 12 1/327 ] T |(A)-9003-lay, Page 9 of 32



27.  fix+2)dx=

() (2 K

.2
(C) %+ 2x+k

3

28. 1 dx =
A) 4
cy 3

29, Jﬂwz cosxdx =
Ay 1
(C) 0

30. Isiqx, cosxdx=

(A) -21—sin2x+k

. 2
€ Ttk

31, ad?(logﬁh

1
A —
A 2/x
1
(C) OT

d2
32. Ex—g(sianJ =

(A) 4 sin2x
(C) -4sin2x

IB:' — k.

{Dl iug[x + 2} +k

(E!, 2

PR |

(D) 2

(B) -1

oy 2

B sigx +k

2

lD' CO; x+k
- 1

B —

(B) P
s

W

(B) 4 4cos’2x -

(D) 2sin4x

[ 121/327 |1 [{A)-9003-Tes)
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dx
}AJ e’ (B) (x - a)e™™
(C) et |D] —pxn
o? R
34, __::1“_: )=
X
IA](, 1x (B) 12)(?'
335. ac%(‘ix" b ax + IJ =
2x+4a

() —irae (B) ’
2Wx? +ax+ 1

1

‘C) 2X +a (D)
x*+ax+] 7 2fx? vax+1
d 2x,
36, -(-IT(QE ) =
(A) 2e~~ (B) e2x
(C) 4e”* ‘ (D) 2eX
d "y _
37. P (logx" )
1 B
(A'J/ — (B) n
X
L n
© < o) o

38. 3% A-{a,bc},B={1,2,3} 3N f={(a,1),(b,2),(c,2)} A [ FW Gl ¢ ?

(B) SFHE A

(A) U el
D) TS SDEH

(C) 3%d ATBIH

(121/327 |1 [(A)-9003-Tao
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al typec of a
I A-—-ln.h,cl.H=|l.?-3| and f=[(ﬂ'”_w_2].{¢.2” then wha

function is f?

(A} onc-oncinto to (8) many-ong inlo

(C) many-one onlo (D) onc-one onto

R [:R R, T [(x)=3x-4, 8 f-\(x) FrafeifE § FF € 7

39.
1 Lip-
(A) §(x+4] (BL S(x 4)
(C) 3x-4 (D) 3RS
. . . -llx) ?

If f:R »Rsuch that f(x)=3x -4, then which of the following 1S f

(A L(x+a) - B) 1(x-4)

- 3" 3
(C) 3x-4 (D) undefined

40. cosec”! [- x]=

(A)/ %- cosec”'x B «- cnécj'c'lx
(€) cosec™'x ' (D) -cosec™lx
a1. R A:["S“ ?].B:[lsﬁ _?].ﬁﬁa=a o« FIAAE
A) 1 | (B) Ve 1
€ 4 . D) TR Elﬁs‘ E

Ir A =[45“ ﬂ B = [lg ?], when A= B, the‘n the value of ais

(A) 1 B -1

C) 4 _ (D) nonce of these

[ 121/327 J1 [(A)-9003-1a9 | Page 12 of 32




42, tan'1=

(A) n (B) ';'
L.
[(’:l . © =
43. coa[scc_l x+coscc‘1x)=
(A) 1 B -1
e
c o l
(D) "
0 —-sin0
s [soss ndl
(A) cos 20 (B) 1
(C O D) -1
4s. cos2x dx -
'r(sinx+t:osx]2
(A)  2log(sinx+cosx)+c (B) __ "log(sinx+cosx)+c
. 1
(C)  log(sinx— cosx)+c D) - Shxtcosx
46. tan'V3-cot™!(-V3)=
A = B 0
X D =
(C) > A ),, 2
L 111
47. a% A=[1 1 1], 7 A%=
111
A, 24 (B) 34
© 274 (D) 'ﬂﬁ d A qﬁ
—

r_:_i___
(A)-9003-1139)
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48.

49,

L1} ,
IfA={1 1 1], then A" =

(A) 2A ) (B 3A
(C} 27A (D) nonc of these
a.a-
(A) O (B) 1
-, ) -
€ a| D) lal

i |a)=2 3R ra U T GRE R A L FARE

1
. | B 5

.

c 2 D) T A FIE TE

- -+
If |a]-2 and X a is a unit vector then A has the value

: 1
(A) 1 | (B) 5

(C) 2 (D) none of these

- - - .
xi+yj+zk &1 A9 €

A)  x2+y?+2? | (B)/,[.s:3+y2+z2
1

(C) 1|f,wc+_|;,q-i-z (D)
' ng +y2+22

A S
The modulusof x i +y j+2zkis

(A) x2 4 y2 +z2 (B) Jx:‘) + y2 +32

1

(C) Jx+y+z . [D) é
2 2
T4yl e g2

|




secx -
>1. J'secjc-ftﬂﬂxdx—
(A) tanx+sccXxX+k (B) tanx—secx+k
) (C) -~ secx+k (D)  tanx+ k
1—cos2x 4.
22. 1+cos2x dx
(A) tanx+x+k (B~ tanx-x+k
(C) x—tan? x+k (D) tan-’25+k
53. Icnt2 xdx=
(A} cotx—x+k (B) 2cotxcasec’x+k
(C}] -—colx-x+k (D) x+cotx+k
- ( .
54, Ioaxdx =
3
a3 B 9
o 9
© 35 o g
- 2 9 _
55 j'ofx +1)dx=
8 . 14
A 3 B) F
- 13 Py
(C) '3' (DL' 3
2
56 _rx cosxdx=
(A): O (B), 1
' n
. _ D r
©, -1 () I
Page 15 of 32.
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27.

S8.

59.

60.

6l.

62.

i
In;gf'l'=

(A 2
)/ log

(C) 2log?
hd .r' 2

L logeot0.do =

(A) -g—lngZ

|C) 2nlop2
x/2

I cosx|dx=
-x/d

A}y 2
) 0

n/2
J‘- / cosO .0

0 cos0+sind

(A) T
© 3
d, ... .2 _
—d"x—[ldn o
(A) secx?
(C) 2x? sec? x2
d
E(\"Cﬂl X )=

1

A 23::01 X

)~ = cosecix

.'ZJcot X

(B)
(D]

(B

(D}

B)
(D)

(B)

(D]

(B)

(D)

N A

Bl

2.:«:23::::2 x2

Secx
2x



d . -
63. L-(sin M3x-4x3)); i,

1

S e

(C) 3
] = .\'2 ) = 2
l -x
64. -a‘i__gsinﬁpa
(A) cosVx (B) cos Jx
Tz
© /- .
/JT cosvx (D) Qj_x..cos&
65. L (2tan”x)=
(A) : .
1 +x2. (®) 14+ x2
(©) __‘1_ 1 D 1 1
271+ x2) ( }‘.. 2 (1- x%)
d ] tim x"-a?
66. H}{ x> xx—: }=
({}) na""! B 1
(C)/' 0 (D) n.
67. 'd%fsin'l Jx +cos”! fx ) =
(A 3 B0
o 1 WIREE
Page 17 of 32
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68. dx _
-,x- 1
{l‘\l lﬂglx+”+k ] (B) —IUgIl-!-x'*k

(C) loglx-1l+k (D) logx+k

69. s TN [ﬂi'ifm[i&)igy: sinx T iz ¥

dx? dx
A 3 (8) 4
© 2 (D) T R IE
/ ¥
k] .
: : d% dy 3 o
The order of the differcntial equation Y1l + 2(—-—-] +9y=8inx1s
dx2 dx
(A) 3 : (B) 4
(C) 2 (D) none of these
4
70 x_-—1 dx=
Ix2+l
x> x°
{(A) —3—+2x+k (B) —5-—2x+k
3 3 .
X X
JCJ 3 +x+k | (D) —3—-x+k
x+1 ) mz
71, UG w2l 03=1 | 0 x+02 1 |=0d x=
0l 1 X+ '
(A} 0 B o,

© o O) e ot

[121/327 )1 [(A}-9003Tws | Page 18 of S3HF




3 X+ ) om 02
IMNwzl, w0’ =1 andl « X+ 0 1 |=o 1i1¢.
10 1 X 4 iy nx
{A) 0O
(3) 0
(C) (n?

() none ol these

72, _jeonsa - s , \
tlﬁ A-[sinu‘ cozg] JHIT A '+-A’=f2| al w=

(A) x n
® 3
c 3
D X
2 (. I
_JCOsut —-sin
10 A=[Sonit 8 and A+ A=y then ue
(A) n 4
’ (B) 3
3n
) = n
2 - L) ¢
73.  AUF T M XA A + A I & T
{A)/ Fmﬁ:l?f 2 Y B) Taun yafie eEE
) TR ATE- (D) Yo STLE
A is a square matrix, then A + A’ is necessarily
(A) a symmetric matrix | (B) a skew symictric matrix
(C)  a unit matrix (D) azero matrix
o | 1 0] a7 2 .
74, R A=H ‘13’], .&av=[,.2 1] AR A% =B, T A=

(A) -1 o B 1
© 4 . (o FRYEERTE
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795.

76.

77.

] O
s 8o 8] 00 e

Ay -1 . 1) I
(€ 4 (D)  nhone of thesc
ufg .-1=[(‘, ‘l’] @

Ay A @ aRaae B [Al=0

€ Al T @ D) T QW

If A=L1} ?], then

(A) A lexists | (B] . |A[=0

(C) A docs not exist - . (D) Nonc of these
et de1 ot o= 3o A = gEn ¥

(A) 1‘ | (B) 2

© 3 - (o) A

The number of unit vectbr(s] perpendicular to a plane is

(A) 1 (B) 2

(C} 3 (D) infinite

€ a.b=0 | D) = Q5 ==



= - .
1)
t

-
Wa=2i-,+2k and _‘t:-_.

EA] ;:..3:5
lC} :.E;:Q
78. [:: -{; ;]g
(A) ]
€ a
7o, T x¥-
(A) 1
r-—-
e ]
< J
- =
80. a X b -
-~ -3
(A) bxa
- =
(C) a.b |
81 J-lede=
' 0
(A) e
(C) e- 1
d | lim ]___
82. _C.l_JE[ xﬂucosBx

(A) -—sin3x

(C) '~ 3sin3x

- o
+J“k'1hcn‘

-» -
(B) a.b=-5 .

Dy 1l-e

B) 1
(D) 0

Page 21 of 32
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83. E@f(ﬂl=
A 1
Y =
T
© -5
84, cos ! ;E_t]+sin“](2.\'l=............,
N
(A) 5
(C) n
85. sin l{-x}=
_ X -l
(A) >~ sin X
(C) -sin'x
86. cot'd = (x>0)
X
Al -cot”lx
(C) tan | x
10 2|_
(A) 140
(C) 35 ;
1 O 0O 1| _
s, [5 9]+[ 6]~
2 0]
w29
2 2]
o |33

1
(13) 2&
o 5577
w2xe|-1, 1]
n
B3
oy O
"
(B) sin~! x
(D) %+ sin”! x
-1
(B) ‘tan” —
(D] cot 'x
(B) 70
(D) 0
(0 2
® |3 3]
11
@ 1 1]

(A)-9003-I9)
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89. -a-‘:!f|5x]=

(A) 5% ) 5!
g 55
© log S D) 5%.0g, 5
" n
90. I“ @ (x)dx + I" ¢ (x)dx =
] n
A s L
(A) 2.[1\01-\’ dx (B) Qj;; plx) dx
U D
°l. W alrb,Ma.ba
(A) 1 B -1
€ o (D) ¥ @ &Y A
If 215, then a.5=
A . B -1
() O (D) None of these
- - -
92. i.(jxk)=
(A) O B) 1
) -l D) 2
93. Ilog x&= +
(A) %HC (B) xlogx+k
(C) xlogx-x+k (D) xlogx+x+k
(A)-9003-139) Page 23 of 32
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9q. n =
0 ®
© -1 o .
m‘ma?rlﬂ"fﬁ.m

95. TH AT @1 x, y AR z 36T F yq fgon & W F0 ct, Y

. . 2., 1
. s 2 sin” 1=
(A) CDE:)‘(!+C032|1+C032?+] =0 . (B sinZ a+sin” p+S
2.,-1
_ . 2 5=
(C}  cos?a+cos?+cos?y=2 (D)  cos®a+cos” 1+€0
y and z axes

Il a linc makes angles a, Jand v with the positive directions of x.
respectively, then

' : : . 2 inZv=1
(A) m52a+cosgﬁs+caszy+1=u (B) snn2a+sm f+sin 7

2.
(C) cos?a+cos?P+cos?y=2 (D) - cos? o+ cos? p+cos” Y= 1

96. WA T 2x=3y=-z AN 6x=-y=- 4z F 9F & HUT &

(A) -,} B O
(C) % (D) %

The anglc between the straight lines 2x=3y=-2 and 6x=— y=-—4zis

(A) B) O

N

D) %

(C)

o=

97. AR A, B 3R C i @d 6 &, ot

(A), P(ABC)=P(A)+P(B)+P(C)
(B) P(ABC)=P(A)-P(B)-P(C)
(C) P(ABC)=P(A).P(B).P(C)

(D) ¥ ¥ HiE i

[121/327]1 [(A)}-9003-Ipy |  Page JiN




If A, Band Care three independent events then
(A) PIABC:I——P[A]+P[U]+P(C]

(B) P{ABC)= P(Ay-p(n)y-P(C)

(C)  PLABC)=P({A), p(R).P(C)

(D)  none of these

{JB. P(A)-l'f”:ﬁ.'}-:

A

(A) 0. B 1
C -

©@ -1 ) P

Q9. 1-P(A'NB'}=
(A) Plﬁ_lﬂBll (B) P[AUB)
(C) Pllf{) (D)  P(B)

100. Z:Bx;4yﬁ¥1{1%ﬂﬂﬁl

e o ooy x+y <4

x20,y20
€
(A) O (B) 12
c) 16 ) . T QDR T
The maxlmum vaJue of Z=3x+ 4y
SubJECL 1q conslramts x+ys4

: x 20,y 20
y 12
a0 (B)
' ' (D) none of these

(C) 16

(121/327]1 |(A)-9603-1¢sﬂ Page 25632



e -q /) SECTION - B
oy IWAT wvA / Short Answer Type Questions
vy wear 1@ 3omﬁgaﬂﬁ?#:ﬁﬂ‘#ﬁr¥? 15 ®vat & Jav &1

2 3% [AulfRa &
Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions. Each question
*15x2=30

pdw & oy
16§ x2 =230

carries 2 marks.
2

1. FHTHE ot Icoszxdx.

Intcgratc Icosz x dx.

2
2. g% faeTed, 91 y = sin{log x).
Find dy when y =sin(log x).
- dx'
2
3,/ 7 & &1 xdy + ydx=xy.dy.

Solve : xdy +ydx=.xy.dy. ,
. — dx.
4. . “gureRe G T4 I 1-sin2x

Intcgmtcf ]-sin2x dx.

ecos(logXx) 4, &1 A i 1|
cOSt o dx _

S. Io X

Ief__?_ﬂ_l?_gf-)- dx .

the value of |, x
2

Find

“/2logtaﬂxdx =0.

fag < ® ),



Ly

THm
' ;?FF‘[ _I=|a c:)sz 0, y=« sinZ 0 ,

7. dy
dxr
, o 2

Fina 94 wi - !
dx * When x=aeos? o, y=asin?o,

8. 2, 0 N - N
FH %4 u® =23 & g (1,43 W RTA BT 2
Find the slope al the point (1,¥2) of the curve x%+ y?=3.
g,“ -~ ?)-h b“c c—a
WRITE |bc cogq o_p| & 7H Femt 2
c— .
@ a-b p-c
Evaluate the determinant ?J:E E—,:E ;:?).
c-a a-b b-c

1 . .

0. f5& &t I i (5,-4,2) 3l (2,1,-3) T TR R &9 &1 :
Show that the vectors { 5, _ 4,2)and (2,1, -3 ) arc perpcndicular Lo one
another. '
o~ - w - . = 2 < - |

11, “axb femel, @I & g =27 -3k, b=3({+4j. 2

) - - - > - -
Find ax b, where a =2i -3k, b=3i+4].

e T I » Y L} ~ v
12. AR 3 =(2.3.-5) 3R B =(2,2,2), T TN a AT b F o= P B AWK} 2

- -
If @ =(23,-5) and b =(22.2). then find the angle between the veclors

,_’ N
a and b.
, 23 11 12 o
3 fag =if®e |46 20 26|=0. -
13, 65 45 20
. 23 éé, éﬁ 0
46 26 [ =U.
' Prove that S 45 20
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"*-/g.g el 1@ y=ysindx . 2

FFind %% , when yaninJ; .

. s 2
15, _(12 R _S8in" x
dx Ty Jeosx 2
. 2
Find -cly—. when y=m.
dx CO8 x
16, FW KE f:R - R onto & TRk f(x)=2x ? FRW 3| 2
-
Is the [unction f:R -» R onto function where J{x)=2x ? Give reasons.
17.  fag =t fw sin"-———J_J;_—=tan'1 x 2
x+a a ’
Prove that sin™! Jx =tan~! JX
_ Jx+a a’
18. fag ¢ fF wan isin'l-ﬁ—+lcos.'ll'x2 =—2X 2
A 2 1+x2 2 1+x2) 1-x2°
_ 1.1 2x 1 al-x2)_ 2«
Prove that la.n[zsm I1+x2 +5cos o) 1o
S lim N2 |
19. AF Freet fim 3T _ _ 2
r=lf -
. i r2
, Evaluate ,:',Tm Z—a
ralt

20. X AR TH y=sinx%ﬁhx=0'{}lx-nﬁ$aﬁﬁiﬂﬁ'ﬂﬂﬁﬂﬁl 2

’

Find the arca between the x-axis and the curve y =sinx, from x=0to x = x.



21,

22.

23.

2.6/{/

¥ %Y,

Solve : .
€ lanydy l-lﬂnxdyr{)

tan ydx tanxdy-g

& Y .

) ' y(l+xy)dx—xdu=0
olve . - ‘
ve Y1+ xyldx - xiy = o

. . d
Bﬁﬁ - E!-j"'"'l‘—"'ex-'—y
X v

Solve : ¥ . _ x+
dx+l—e ¥,

. - - -
fee =ity (@+b)(a-D)=a2_p?
. _

Prove that (a +3].(;-3]= a? - p?
1

X"y

afg A=[.3c2 yzi!.ﬂ:t AA" Td HIfAT)

2

i 1
If A={ x y |, then find AA'.
x? y |

G x w1 uE T S

._(2x3_y | 3){3 _3] 'I

Find the value of x from the following :

(57 3-8 -9,

16 9 7
23 16 7 | =1 9A @ H
32 19 13

R

16 9 7
23 16 7
32 19 13

Evaluate the determinant

[121/327]1 [(A)-9003-1s9

Page 29 of 32

o



28,

20,

30.

w WA T?]T x 3R - ESTH G HIETER o & T eI 45° AN 60° @ EF’NT
T B TR 5 Ay ) A Ty & e e e 2 2
A straight line makey anples of 45° and 60" with the positive dircction of the
vand y-axes respectively. What angle does it make with the positive dircction of
the 7-uxis ?

‘Tﬁmmﬁmmmﬂaﬁﬁmfwmiﬁx,yafnzam‘iqzain:@"amﬂ.‘*m
-5

2
Fird the cquation of the plane whosc intercepts on the axes of x, y and z are
respeetively 3, 4 sned - 5.

L]

gle pa)=3 pgl 15 (.A_') (E_) A1 2
(A)l=3. P(B) > T4 PAN B) 7 P57 Pl frpTed

3 1 1 ' B
If P(A].-.E, P{Bl=§and P{Anmr;. then find P(-ﬁ—,) and P[T)'
ﬁﬁ ELDIE Wi / Long Answer ‘l;y-pe Questions

mmmﬁaawﬂﬂum%luﬁﬁﬁuﬁ#mmm%fﬂq

5 3% faaifia §) | . 4x5=20
Question Nos. 31 to 38 are Long Answar Type questions. Answer any 4 questions. Each
question carries 5 marks. 4x5=20
31. 3 l:m'lxvim't_y.-l-lan":f.;-'%,?ﬁfﬂﬁﬁﬁh‘ Yyz+zx+xy=1, S
If tan™ x+tan~ y + tan™! z=-%, then prove that yz+ ux + xy =1,
(b+ c]2 a* a’
32 AEs fEei | 12 esa® b2 | 5
. c? (a+ b
b+cf? a? a?
. ¥ ]
Factorize | b* (c+a® b2 |.
o2 c? (a+ b]2

[121/327 |1
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12132711 |

33 i

Tds

Yrove that (A H A
34 dy IEEaT . x
! d.i' ' “ Iy +y = ]
Find E}! when xyq- ' = ]
dx y
315 HHIEHAT FT j’mn*xdx
4
Integrate Imn xdx
36

s 2 ad
Fet ol e -y S s
e - ytat = 2xy

d
Solve + (x? - yzl—g =

5
dx = MY

S5z=2

Find the mmage of the point ( 3, 1, - 4 ) with respect to the pluns
3x + Ay

38

g - ox + 10y

FelER v+ 2y <120

v oou 260
X Jy?O

x‘y.’u

e "j;':‘_,-‘nl "J |.‘1!“_| "

HMHAHF UF AFHEFT Y

(A)-9003 1w
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Muximize and minimize Z - 5x o 10y

subject o

X+2y<120
Xy > 60
x 2420

x.yzx0.
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